[ Efficiency vs vertpos |

2 ~F s
E -
14 [ ] 4+
- < B B o = 2 3
. +
+
+

1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global_mKFITOLD__RECO

Efficiend —— DQM_V0001_R000000001__Global_mkFit100_RECO
ICIeNd __,__ pQM_V0001_R000000001__Global__mkFit100tobtec_ |

RECO

N~ 0.1
L S St ST S
1) . . . . .
Z 0.08fH------ AR R i peeeees
> : : : : :
2 : : : : :
A 11 AR A A Nl
o : : : :
£ 0.06fN{- |7 A N
o : : : :
0.05ffHf-- |5 -p-meeieeeeeees Bereeendeeeny
0.04 ;

0.03ff - { ....... EEEALRS
ol :g.:'+|:+"g}:+:+;::;tzzzﬁ*g+-

L_bG....i....i....l....l....i....

................................

930 20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
> E E E E E
00.045F -+ preyees AR FeR AR
S : : : :
T A A
2.035F -+ SRR R ki ERRRRREE FRREEEEE
P b : : : :
c0.03f------ A AR AR
o : : : :
s E At SRS 0l SIS S
b : : : :

O R RIS 1§ RE A
0.015f------ RS SLRTEt | L SRLR SRS

oo ffﬁ;{%&é& ;J#

0.005F -k ---x-Fr i R T e

1.0

Ratio

1< S8 A A K L
-+ -+ -+
+
0.95 0 o A A ) X O SO
+ +

o
©

P oo

Sim. PV z (cm)

0 -5 0 510 1520




	Contents
	Page 1


